SAP ABAP table ROIGS {Internal Table for Shipment}
ROIGS-CARRIER = LFAI-LIFNR

- LFAl

MANDT [CLNT (3)]
LIFNR [CHAR (10)]

0.N T000
MANDT [CLNT (3)]

~~ o T006
MANDT [CLNT (3)]
- 8N [MSEHI [UNIT (3)]

T T156
: MANDT [CLNT (3)]
BWART [CHAR (3)]

T173

MANDT [CLNT (3)]
_ - 0.N |VSART [CHAR (2)]
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MANDT [CLNT (3)]
__ __________ OO =————'————————————.—— KVEWE [CHAR (1)]

0.N
KAPPL [CHAR (2)]
KALSM [CHAR (6)]
. TOIGEG
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CLIENT [CLNT (3)]

EV_GROUP [CHAR (4)]

TOIGS

0..N | CLIENT [CLNT (3)]
SHTYP [CHAR (4)]

TOIGS2
___________ CLIENT [CLNT (3)]
INPGP [CHAR (2)]

TOIGS4

_ ROIGS-REAS CODE = TOIGS4-REAS CODE 0N | CLEENT[CINT (3)]

TDACT [CHAR (1)]

_ -0.:N [REAS_CODE [CHAR (2)]

TTDS

MANDT [CLNT (3)]
________________ 0..N [TPLST [CHAR (4)]

TVRO

MANDT [CLNT (3)]
______________ 0.-N [ROUTE [CHAR (6)]

TVTK
MANDT [CLNT (3)]
_______________ 0..N |SHTYP [CHAR (4)]




